| Efficiency vs Dxy |

> 0.1¢

< F : : : : : : : : :
o - . . . . . . . . .
L A St S S
<N - T T I S R R
0 HRGAas & L0 SIS MUY SRS S S
K S S S | N S S S S
D07
KT S S A A I S A S A
e I A S
USSR
A O 1 e e
L T

11130
T
o+

Rati

=
!

095 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit_nobatch

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit_maybebatch

N 0.5
o

1] SRS S S— — SRR R
S T N
g oA A A A
Q Z : : : : :
.35 Frrrmeneeens g froreeeees e
v TF : : : : :
0.3 e S i
L TREe 2 E o E
O e o I
1J51:]2 SO N P St ] B
T a0 ATt RIS R S 1 SO
] O N CTontes MO HE
:IIII 11 1' llr'-l'- L-F.'|$*+IIIIII 11 1 1
o-Or :
5
' i :
1:0 --------- - ------ * R = R
093620 =10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


